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NAME:                            CLASS:                         

Addition 
Solve the following problems: 

Q1. The population of a town is as follows: Male – 57450, Female 32148. What 
is the total population of the town? 

Q2. In an election, there were three candidates. The first candidate got 14900 
votes, the second candidate got 11080 votes and third candidate got 6010 
votes. How many votes were polled in all? 

Q3. A shopkeeper earned 21345 dollars in first month, 20030 dollars in second 
month and 20000 in third month. How much did he earn in three months? 
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